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Que: F : STYFSATIT- AT ( STASATA- TN )
SECTION A : Unseen Reading Comprehension

gue: g : THATCHRRTIH (oAb - )
SECTION B : Writing Skills

gue: T HTIIFIATRLOY_ (TTIH SATHL)
SECTION C : Applied Grammar

qUe: o : fed-staenyTq (ufed-sTaaie)
SECTION D : Reading Comprehension

.
o .

Instructions :

G) SIRT] F9799 TER: GUST: Gl |
39 J97-99 # 9R @IS &1

The question paper has four sections.

(i) TP GUSH YH WV THRHT T FHHI TGN |

Y% @US & I UF gl 98 W HY T forad &t

The answers to each section must be written at one place.

(iii) JYTHEI FITGAIJERY STq9qHe =141 |

T97-T7 & STJ9R Jo7-G&I 37999 & fera &l

Write the question number according to the question paper.

(v) TI F¥THH ST GERaT a@HenT|
4l gol & I Gegpd H felau

Answer all the questions in Sanskrit.
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Qus: & (SECTION - A)
JTUTSATIT- TS ( JTUfSATIT ST )
Unseen Reading Comprehension 15 3T

N N

Sfafgay sT7=es Ifecl YSauedr &hdd I :

o

~

fFrefafad ST9=ee &l et fou T 9ol & IW H&ha § T -

Read the following passage and answer the given questions in Sanskrit :

Y AL 0 ¥ | %g: S: e 31fy frsfd, sqemeoi s6dfa, Sy

TeqeraT &1 7 Joifa | TEE 9 1Y FEYF: WoH | Afq hid: Sesid qal
I TF &0 B YROiE | WA "9 I 9afa | Sl $ifg fatean qafa)

$5Y1 hIel Tohfodd J&deh TR USH | ShidIq Hagl AT &M |

L EALE

@

1)

ThUed I | 1x2=2
THh 3 § W SIfe |
Answer in one word.

() 1Y SFTd foh it ?
(i) HG: H: Kl feda=iT 7 onfa ?

PNEIESE IS TG 2x2=4

quf 9eR § I ST
Answer in a complete sentence.

() TIEH " W h: ?
(i) THA 9l higel wafd ?

(I1T) Yeafaesheqsd: 3faaq 3w foen forad : vx4=2

feu U fashedl # ¥ 3fad W g fafan
Choose and write the appropriate answer from the given options :
() ‘$s:' 30 F9 587 fagivom ?

M T

() ST

(i) IE:

(iv) SU=SH |

3 P.T.O.



(@) ‘wom’ zfa foramres fo wdue e ygEw ?
G S
(i) @it
(iii) sh1Y:
(iv) o |
() ‘wEfE e’ sod e e T v ?
@ e
(i) Tt
(iii) TFE T
(iv) 1fa|
(=) * sreTEE: | 3 e fob foeimue o1 ggE ?
G) fraf=a
() wEa
(ii) HTGETT:

@iv) RM=H |

(IV) 3T TT=5cH Fd Ffad Iueh I&hdd faad

39 ATDS o oY SUg viiveh H&ha H faf@y :

Write the appropriate title for this passage in Sanskrit :
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N hd

siefafed velidh gfgel ISaUe &hdd I |
frefafad veieh o1 Tgae fou T g9af & IS ¥&pa ¥ <
Read the following shloka and answer the given questions in Sanskrit.
gTeTel: qafd, QIefd JSHIE,
®0 e fhArg Jfa T |

oo

(96 [t Hedl qumcq%lg:,

N

Td T Ifid A9h: w1

HIHT:
() T&HISH I | 1x1=1
Teh I H I SIS |

Answer in one word.
d qIeAl: : Udfd ?

(AT) TofaTeRH IR | 1x2=2
i 9eR § W ST

Answer in a complete sentence.
() TIH: HU fh HUM ?
(i) TIH: H 9d ARG HUfd 2
(I1T) Yeafasheysd: 3fadq I focn foed : 1x2=2
feu U fashedi # 9 3fa W g fafan
Choose and write the appropriate answer from the given options :
(%) Yok ‘gRE’ 2fd qew foh qafeus ygaay ?
G &
(1) Y
(i) =RTH,
(iv) Taf=sm |
(@) ‘s’ 3 ew foh foeimue voller ggeH ?
0 fozq
() wrE
(1) et

(iv) =RaH|

5 P.T.O.
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Que: @ (SECTION - B)

AT R (oS &hd )
Writing Skills 15 3@:
el fd fafaan s19: 75 AesEeRes: i@ I4: faeq : %x10=5

fuar =01 for@ o f=fafad o= &1 wesm # fou U vrssi o6t weEar | gl
TT:WJI:@"I:

Complete the following letter, written to your father, with the help of the
words given in the box and rewrite the same :

Al {A-AIdIA:,
o
fafa:
T3t (i) !
HIEL JOTHT: |

A FIA I 38 fasra war sAfagws: wfagsafa gag wdfead
Ffd AT AT faeaefat q491 (iii) M T | HisTead

(iv) 3TEHY gUH: IEH | A a¥ arftwicad o8 AreATtyTy
v |

319 aTfiehlcad: SATH-YEhaT (vi) | fo=rmerrs ve@: @ T
(vii) Ot | STEHlY (viid) YA I 9l I HE STATH,
=g | HH (ix) afersafa | AIqeROE: HE YO |

Yad: Y=,
x) |
Hos ot

NS n

fr=rgss, gremgfaaifitaer, s, IErRadTq, wa<H, Tafcedld:, ToHH,

e, frqasiean:, sTESasd |




S1Y:yed Tors Sl Hos[url YSTRissMl HRHadl Usd SR Gehda fored @ 2x5=10
= feu Mo fom 1 gui Heew § fou T wssl wi weEd ¥ ute Ehd are

T I :

Describe the following picture in five Sanskrit sentences with the help of the
words given in the box below :

RSl
BT, UMM, TA&TH, Faf-d, forerh:, Tafarony, T, &, fowmey, gemmorny,
SRR |

31974t (OR)
foraa .
Tos H fou U vl i Wl ¥ frefafed fava w ute a9 ¥ T
ﬂ@?ﬁf@ﬁ:

Write a paragraph in five Sanskrit sentences on the following topic with the
help of the words given in the box :

AT — FHoeh:

AT
3ToIE, TUfd, FeTSIerd, ST, HIUaE, T9E: e, SYfwary:, Se,
qRgHe |

7 P.T.O.



Que: T (SECTION - O)

ITUTFAATRIUT (SIS TR ITT )
Applied Grammar 30 3Ag:
AfeiEderRy WErgauey | afe=sg o1 Fel forad : 1x4=4

o

frfafea ol o Wifed 95 § wfy srear gfy-foseg e fafax .
Write the underlined words of the following sentences after joining or disjoining
sandhis :

G d%Us TR + Td|

() SIER: Tel g 3fd + wdq fagw ==
(i) 1 pAfefed *H |

(iv) TEFT BT ToIH, ST |

Nes o N

AefefadersRy Wigdue TAE foug of yexfasheusd: foem fa@d @ 1x5=5

Fefafad ol o Y@ifed Tal o F0™ 31gan foaug fau v faskedi § 4 A

fafay -

Choose and write the correct compounded or expounded forms of the
underlined words in the following sentences :

() Yfdedq T=<:sh0 T §: Tooeqrd: fe=<ad |
() HfdedH 3T,
(i) fTEdRTIH
(i) FfdedT=:HIT: |
(@) §: 99=8 wall- @R |
() SO SAAIIH™
() T Higayq
(ii) SoSI: FHH |
(1) == wE: gfden 9 et |
(@) oI
(i) TRafaToT:
(iii) TeE: qfE: |
(%) J& 9: IR IS TeSi |
G e e
() -ed we
(i) ree FHIH |
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(¥) darsr: B &g 3d |
() HdH TR T 9: |
(i) I T T

(i) AT ST=Ufor I@m: 91|

Afafgqarey WEfgauer yhfaaerdl dasg fasws o1 3fadq sw fameda:
fercen ferea - 1x5=5
frefafed ameRl § Y@iferd 9l & Ihfdacl sl S a1 gore it 3fad W
fashedt # 9 A fafam -

Write the underlined words of the following sentences after joining or disjoining

suffixes to the roots or words, selecting the correct answer from the options
given below :

() HT9: Fodd + do] h: g &m: ?
O TSI
(i) =reEAdH
(i) FToAAH: |
(@) =8~ dlcleh 999 |
@ T+ 3
(i) = + S
(i) T + ST |
() T& He + UH SH: T&=I: 3 |
G) G
(i) T
(iii) TaHM: |
(%) aRg"e 78 |d SMf |
@) W8+ TH
() Heq + 9]
(i) Heq + A |
() T | 3 + S shisld |
® I
i) T
(i) P

9 P.T.O.



Ne e N

SYfAfEqamRy ReEaemi Tosue ged: 3fad: sove: [ faga : 1x5=5
frefafed el o e st gfd #esn # fqu v 3fud e/ s & g
HIWT

Fill in the blanks in the following sentences with appropriate indeclinable

words given in the box :

ESE RO AL |
() @H TURTAS 4 |
(ii) AT Toh Gl SUH AT |
Gv) __ SOYR: foRhdd drerd YRS STER: |
v ®|df___ %
HosTHT

afg:, 1, frmelH, A, $d: |

SteaqeEs fae SR I | 1x5=5

o

3fed Heamus IR o quf Sifse |

Choose the correct numerical words and complete the sentences.

G "™ fe waf=i | (5w, 5w, 5

(i) T o3 9 i< | (73, o, i)

(iii) 3um fovfagan: e | (TR, TR, The)

(iv) qeM SHAAT faeaf< | (Idd:, I@r:, i)

v __ <hifercd oz | (8, 8, §31:)
AYfAREderRy WWifgaued SREH AR | Jexfashedsd: fedq S o seus
e forea 1x6=6
FAfafad g o W@ifehd T8 NS ¢! QU MU fomedi ¥ 9 3fea S gL
IS U2 I Hefyd R fafaw

Choose the correct answer from the given options and correct the underlined
incorrect word in the following sentences :

(%) 1 ' 39 Tisf |
OERUEEICE
(1) AT
(i) TSI
(iv) STT=SdM |

10
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(@) ¥ difdeT Hisfd|

@ el

(i) dTeTh:
(i) TeTh!
(iv) dfeTeh |

(A1) @ T ARG g ?

@) TeIf
() T
(i) weArd
(iv) eI |

(%) @ T fir, e

@ fem
Gi) o
(i) T
Gv) T

() 3 T TeH |

(=)

G A3
() 3
(i) Y
(iv) =AM

A& gIew eI |f |
@ e

(i) Y

(iii) ST

(iv) VoM

11

P.T.O.
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@Us: ¥ (SECTION - D)
ufad-Taare Y ( ufed-raerer )

Reading Comprehension 30 3T

sefafad ey, 9, e 9 gfec YSaueaHH Sauftn 9&hdd faeq -
fr=fafed Ty, @ AR ARy # Tewl fTu M gvEl & IW HEhd |

Read the following prose, poetry and drama passage and answer the given
questions in Sanskrit :

(1)  TEnVT:
" Ue g wifeden: fefoag QU eifE | oY 31 srigpven S|

35 lfgaTe: SRS 3fd T=rd | 373 STHIM o= SR et
sify wfa | eTeTeh TeAfauma geRifirdi st Tag-Tei =i afewmn
A AT THSTEA | TAW SR FPqur sereel ofdd | shTishAe]
Eﬁlﬁ?ﬁf: "’
LS
(D) THIeT I |

T OIg § IR QI |

Answer in one word.

TRNHHUE HEl: ITHEISA T2 ?
(IT) YofemeRH 3T |

Tof g H IR

Answer in a complete sentence.

YT T FEUT ST T ?

(IID) Yedfashed«: 3faaq 3w foen foad 1x2=2

feu T fasedl # 9 3fea IR A fafau -
Choose and write the correct answer from the given options :
(%) ‘=reeen’ 3fq wjuew b foRamad Terd yge ?

(@) ST

Gi) o

Gii) T2

(v) A& |

12
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(@) ‘udw 3fd FeAmYe he: g ?
() HEHA:

(i) FUSH:

(iii) TITTEIAT:

(iv) STTHEIAY: |

(3) TEH:

X

Tostd T ol foreny 7gd |
frais@ foh qusd sfoasdepasani1”’
QI
() THTed 3 |
T ¥ § I SIS |
Answer in one word.
fuar a1 I famny g=sfaq?
(A1) YofaTeRH IR |
quf R § W T

Answer in a complete sentence.
fo o+ "eq aifs?
(I1T) Yeafashedsd: 3fadq I o foed -
feu U fashedi # 9 3fad W A fafan

Choose and write the correct answer from the given options :

() ‘o=’ 3 FEAMUE Yl HE GIFH ?
@ for
(i) TI9
(i) T
(v) ST |
(@) ‘"eq 3faIe w9 dew fasong ?
@ o
(i) foremerTe
(1) A
Gv) T9: |

13

1x2=2

P.T.O.



(3) ez :

Fh: I WYd! T2 afe 99 "afd 7 wernty aft F 7 = fuewn: 2 o oedw
h T4 |

USRY: = 9199 | 3TeHe FRefiaeeh! afaor =i |

o ek oA, 3Tefe WM | (dd: gfererfa gehfdam)

Yehfd:  (HEIEH) T T iy weted | 318 Yhid: T o1 ST | T §d
7 fian: | e Ao foed JuTeEes | 96 TA W el |7 a6
Fheted TS g araaq |’

QoA
() THTe 3 | 1
T& I § I S |
Answer in one word.
fUshe w=afd o: drerafd ?
(IT) YUfeTeRA 3T | 1
o g H I T |
Answer in a complete sentence.
gd: TT HE: AT a2
(I11) Yeafashedsy: 3faaq I o faed - 1x2=2
feu U fashedi # 9 3fad W g fafan :
Choose and write the correct answer from the given options :
(%) ‘wweumaR: ' sfd K& TR 2
Q) FFF () PRE (i) RIS (v) TR
(@) e ey 3fd uee guede: fohy seraus Yy ?
@ o™ G dfR (iii) faer: (iv) |

N hd

12. srfafadee T gqfad 96 faskedsa: faan fowa 1x2=2

52

frfafeaa sl &1 9qfaa we foasedl § 9 I fafau
Choose and write the correct gist of the following sentences from the given
options :
(F) ‘HdoT STEHISE SEMTN Fd G Ta |’
() hTh: BTH T SNEh: Wold |
(i) HI: Hod SNTEE: Va(d | T T4 SIS SHEUN Fd AEH: T |
(i) HTh: Tad BTAUN Fd STV FHULT |

14
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(@) ‘"raffadsr g gdl §9: okl oeh: |’

G =9: &R fyafa, o: & fafdl

(i) TOH IHS 9 FUI: JIq: 4q |

(i) T ST 9 Hed Toh gy foh = ety ?
3fd fadeyul #1 Ta T 9 9 98: 39 |

TS[uTd: HYfaauyer facn stfafadeeagas srad d ¢
oo H 9 O 98 AR FHfafad gl vl & 379d i U1 ST

Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box :

() ‘' SrefagaraT swaEe: T Ee: |

q 3q: Fafqam 999 9 e 411"
3T - SAfsgdIdT S () T |
TafaE I (i) T YT F T ;|

(@) "' 375 FEfR 95 THEU 98 |

HHI: FIEIITS=I&dg, g rffersifa 11"’

IFA: - I (i) 3T qTATEAT] §& |
(ii) SIGITEHT: qg Ueg A afyerdfd |
HosTHT

FARR:, Y9, IS, W2 |

Eiigd UaIH SAYed TRAHIT Fed |
[@ifehd UG & YR I GLAAHT RIS |

Frame the questions on the basis of the underlined words.

(@)

Tl WU STRTL: Woid |

Gi) T frmm sTd HdH |
(iii) SRV ST TG A |
(iv) SITUMT SI9eEm: AT & |

V)

Joe T IE EH HUIHIH ST WIHHH_ A4 |

15

1x4=4

1x5=5

P.T.O.



15.

16.
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o

sefafaqare SeamhaaR faeqd

~

ffafad ol &l seshd & IER fafau .

Write the following sentences in their sequential order :

() HHRATEA TR JeSeIqmIAmeE: Hived FR: SAE |

(11) qr: Bl"g"ﬁl: T Q'ﬁ"{[’f: 3TI'H°|—CLI

(ili) Toh: ITVS: ATeTeh: STaGd- o=l formef gaoi TREsT Y9 T4 911 7
(iv) Y=SeUN: SedehTel foan 7 g |

(v) d geecome T e |

(vi) df fafeen SRe $ed: |

(vii) TeoI9T: §RTG: ST 9R: 3THed |

(viii) @1 AF ShISd: STCIhM gl Tacdr -

o1 fermef foom ol shiey ?

Efgaueri Tagiard e foen foed |
Y@iferd Y& o JETIER 319 gt fafay |
Choose and write the contextual meanings of the underlined words.
(%) ‘91 q=q! 3 TR gH@Ea: |
) I3: I
() 3
@i1) HeS: |
(@) ‘aferufeyars a1 98 9 W &fa: |’
@ o
() I
GIISINEIEY
(TT) ‘ehrad Hekell HRT I
@  HET:
(i) gferef
(i) HETEE: |

16
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